gﬁ mi.'rbd) Spardhaguru India Private Limited
[A)
G Spardhaguru India Private Limited SGIPLCECCMC Percentage

10 Years of Excellence
®-
Q spardhaguru2022 0 Spardhaguru Current affairs X Spardhagurul

ﬁ spardhaGuru roj Spardha.guru ) www.spardha.guru Ve d]_C
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BaSiC Concepts Of cp and SP 4) By selling an article for Rs.960 a man incurs a loss of
4%; what was the cost price ?

1) Nisha bought a number of oranges at 2 for a rupee by dc\_'b_ndc?ig( & e i s e 2y

and an equal number at 3 for a rupee. To make a profit

of 20% she should sell a dozen for dasz_?g&il) 4% do‘a&dd& ORPIIDSN; SI@ IS
dzo BUTID 33 BEYRYRY 20D demedrt 2 3, Sen?
00eDATW DR 0w Bewmadr 3 3, Iewerd a) Rs.498.4 b) Rs.784
083,00 DBEDITH. 20% 793 NPTV WBW 20T o IRS-L eeo d) Re-300
Solution :
B O, Bevees SreudeieD
a) Rs.10 b) Rs.8 5) By selling a car for Rs.64,000, Mr. Rao lost 20%. Then
c) Rs.6 d) Rs.12 the cost price of the car is :
Solution : T0.64,0003, 590, Sre00E3 TorE SwewS B To

3¢.200®), 3YRBROTD). J033 903 &3¢
2) The cost price of a radio is Rs.600. The 5% of the cost 2

price is charged towards transportation. After adding a) Rs.80, 000 b) Rs.76, 800
that, if the net profit to be made is 15%, then the selling c) Rs.72, 000 d) Rs.84, 000
price of the radio must be Solution :

SeBied &S 600 de. BPB 5% S, we0rir

ABTIDBY. BBRY FeBIT 03T, NPT .
" Gain lost Percentage.
AZ ¥ ol 15% 8NGT, 03T TeBdNT Sye0eess

1) If the cost price of 10 articles is equal to the selling

363 @die®) . z : ;
price of 7 articles, then the gain or loss percent is :
AR EoNER BIE2%50 10 Seasniv iy 7 Seasniy @rowd @R
c) Rs.704.50 d) Rs.684.50
Solution : ‘ BNGT, et el FDe IR Be.
. 6 .

3) If books bought at prices from Rs.150 to Rs.300 are a) 51% gain b) 42 ; % gain

. . . 6
sold at prices rangmg from. Rs.250 tcr: Rs.350, what .|s ¢) 42 2 % loss d) 35 % loss
the greatest possible profit that might be made in 7

selling 15 books ? Solution : -

Te.150 0B Tr.300 SSBNS BSohe 20eDIT

2) If the cost price of 12 oranges is equal to selling price

DIJBNYN) Te.250 Dod Te.350 TSNS Srt of 10 oranges, then the percentage of profit is
Sovees  @eBES, 15 RTBAYRY  Sevees 12 33YNRY BSAw 10 IBYRY Sevewsd BUr
DI BO0T BRIBTTB B 08 OR)? SDTNGT, oRld FeBwaszo
a) Rs.4, 250 b) Rs.750 2) 162 % b) 20%
c) Cannot be determined d) Rs.3, 000 3
Solution : £} 25% d) 18%
Solution : Hage |
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2) A man sold 250 chairs and had a gain equal to selling

9
3) Mahesh purchased a radio at — of its selling price ) ) ) ) )
10 . price of 50 chairs. His profit per cent is :

ZZ;I,]S;T,IL:;?;%: more than its original selling price. His 2 dgé 250 ﬁ)d%‘ﬁ?d&q sy w&_‘, 50 253y
DEezF TeBoleany BTT Sreveid dab 9/10 &, Snonn Wdn Reusseas fesas e S
20eDITH DR ©TC Rwew Beoeud SN 8% VSR I3 FeswoeTh:

Bed) 009 RRBTD. WES IS FeswaEadh: Zlﬁﬁgn : B )1smR i

a) 20 % b) 18%

c)8% d) 10 %

3) Last year Mr. A bought two paintings. This year he
Solution : sold them for Rs. 20,000 each. On one, he made a 25%
profit and on the other he had a 25% loss. Then his net
profit or loss is

oranges. Then the profit percentage is nded i %e ey deZS@ﬁﬁéd) 28D 3Ed, 2
10 $3YRY 000633 2363 13 83%NY 23e3adond. esnt *
¥ . SR WSD BYRYRY, Te. e 20,000. 20889 25%

03T Bees Te
oed D) R 0TTY 25% IFToAWSD. 8N VTI

4) The selling price of 10 oranges is the cost price of 13

a)30% b)10% c) 3% d) 13%
Solution : f:)dd?
a) He earned more than Rs. 2000
5) The cost price of a book is Rs.150. At what price b) He lost less than Rs. 2000
should it be sold to gain 20% ? c) He earned less than Rs. 2000
RRTBA S 150 Te. 20% RYTVew Ao IS Srevees d) He lost more than Rs. 2000
Ieriex)?
4) Profit after selling a commodity for 524 is the same
a) Rs.120 b) Rs.180 as loss after selling it for 452. The cost price of the
c) Rs.80 d) Rs.100 commodity is
bl 524 8, FOBRY, Sre00Es WBE F0BTB Leelay) BB
- . 452 3, 300083 0BT 303833 IR To30de RDIST.
Gain / Loss % with CP / SP " ? *
oD JeJadb 233
1) If by selling an article for Rs. 390 a shopkeeper gains a) 488 b) 500
20%, then the cost price is ¢) 485 d) 480
200 SeRSY, de.ri Srevees B33, 390 22y SaliiEian.
©onBALSERD 20% RO, 03T 3T IS
n 5) A merchant sold an article for 75 at a profit percent
a)) :s' :;8 d; ES. 233 equal to its cost price. The cost price of the article was
c) Rs. s.
. W), D90 W3 JPT IR IeRTerd 33
Solution : v 73 o

BeB@omed 75 3, 20w NS et SeBa.

e IS LeNS:
- Hage |
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a)54 b) 50 c) 60 d) 45
Solution :

6) On selling 17 balls at 720, there is a loss equal to the
cost price of 5 balls. The cost price (in) of a ball is

17 WYY, 720 8, v SreBwert, 5 oty
B TDDed Iy, evoesrdBd. WolS B (arF)

e8NS

a) 55 b) 50 c) 60 d) 45

Solution :

7) An article is sold at a certain price. If it is sold at half

g
of the previous sellng price, then there is a loss of 25 5

% . The profit after selling the article at the previous
selling price is:

200 SRS, A0FF, FT SedwrEd. LodS
Sreveeid BJod wBFBa), Syevee3Eens, So83 25
1/2 % SS@rHB3. LoD Srevets LU JeaS3,
0083 BT S0BTB €I023:

3
a) 12 Z % b) 49%
1
c) 245% d) 51%
Solution :

8) A clock was sold for 144. If the percentage of profit
was numerically equal to the cost price, the cost of the
clock was

0O NBCSRY 144 3, SedUedhad. wwid
boleinpar]o)) ﬁomzséé&nﬁ Y3 WSt IReNG3,

nBade3a 33

a) 90 b) 80 c) 100 d) 72
Solution :

9) By selling 1 dozen ball pens, a shopkeeper earned
the profit equal to the selling price of 4 ball pens. His
profit per cent is

Copyright © All Rights Reserved | https://www.spardha.guru

1 BaRF weef BRYMVRY BP0 IRDI RS,
woriBabaD 4 weef YRV @eows B
BT ORI, MORBD. ¥V L3 Be

1
a) 335% b) 40%
1
c)31 Z % d) 50%
Solution :

10) The loss incurred on selling 21 articles equals the
selling price of 3 articles. Then the loss per cent is

21 SIRY e0BY HLOLIT IFD) 3 SANY
Sr000e3T ISt SDTNDST. et Iy, Be

1
a) 12 E % b) 10%

1 1
c)11—=% d)9—%

9 11
Solution :

Sold and Brought

1) Oranges are bought at rate.of 7 for Rs.3. At what rate
per-hundred must they be sold to gain 33%?

7 303Q 3 de.nl 38Y 0edTUNBT. 33% NPT
33 RT3, Ared BBBY Srevets Sredeled?

a) Rs.60 b) Rs.58
c) Rs.56 d) Rs.57
Solution :

2) Aman buys 12 articles for Rs.12 and sells them at the
rate of Rs.1.25 per article. His gain percentage is :

W) B3 12 SHNYRY 12 de.rt 20edd B8 Jearss,
Gr.1.25 B0BY S0 BTN, BT 0Id

BeBBODI):

a) 25% b) 15%
c) 20% d) 18%
Solution :

Hage |
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Mathematics

3) 12 copies of a book were sold for Rs.1800/- there by
gaining cost price of 3 copies. The cost price of a copy
isi:

000 PYIBW 12 B)END de. 1800/- 8¢ 6962 3 ®)3nY
&'3&30&)32( BBD P03 STBUIAR). By 3ad 23eIadw:

a) Rs.150/- b) Rs.1200/-
c) Rs.120/- d) Rs.1500/-
Solution :

4) If | would have purchased 11 articles for Rs.10 and
sold all the articles at the rate of 10 for Rs.11, the profit
per cent would have been :

b 11 Seasniva), 9e.10 &, adedd ) 10 T
3038 te.11 8, Frevees SBTT, el .

a) 11% b) 21%
c) 10% d) 100%
Solution :

them at 3 for a rupee. His gain percent will be :

W) 3 B0R) BQUTIVRY, wow Az 5 3,
0ODDTIS D) VJNYS) 3 demedr BTN .
TS o3BT TeBBowaD) HeNDHIA:

2 2
a)76 —% b) 56 = %

3 3

2 2
c)66 =% d)46 =%

3 3
Solution :

Marked Price

1 al;
1) If the sales tax be reduced from 3 E % to 3 E % , what

difference does it make to a person who purchases an
article whose marked price is 8,400 ?

Srevee3 SOriabY, 3 1/2 % 003 3 1/3 % 3, *VITT,
8,400 20T NHDHATUB SRS, 0eBDS ;3rt
OD STYRTTHITI?

5) A person buys some pencils at 5 for a rupee and sells *

Copyright © All Rights Reserved | https://www.spardha.guru

a) Rs.20 b) Rs.14
c)Rs.10 d) Rs.15
Solution :

2
2) By selling an article at g of the marked price, there is

a loss of 10%. The profit percent, when the article is
sold at the marked price, is

AN WeFad 2/38,3, 2003 deaﬁdd& 000E3
DIB00T,  10%  SFDrHST. B 33D,
HDETeRT ISR evee3  eBmend 933

TeBBEODIR)

a) 20% b) 35%
c) 40% d) 30%
Solution :

3) Aitradesman allows a discount of 15% on the marked
price. How much above the cost price must he mark his
goods as to gain 19%?

22) DR@OR HDHSBUNE BShS) 15% Oy
BIASRY, BRHDSVTI. 19% MO BB
33 BOBNVR), SYB  BSN0B| R B 0w
roth3zesez?

a) 34% b) 25%
c) 30% d) 40%
Solution :

4) Rita bought a television set with 20% discount on the
labelled price. She made a profit of Rs.800 by selling it
for Rs.16, 800. The labelled price of the set was

Bee3o efeer B3 ?,30"03.)62 20% Do 303eod
Be083E]  Je3k ) 00eDITD.  dr.16,8008,
003 8 Te.800 €393 NPVITK). T3 eFeayes

(ALS)

a) Rs.18, 000 b) Rs.20, 800

c) Rs.24, 000 d) Rs.20, 000
Hage |
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Mathematics

Solution :

5) The cost price of an article is Rs.800. After allowing a
discount of 10%, a gain of 12.5% was made. Then the
marked price of the article is

2,08 SIS 23S 800 Tp. 10% Ta), DT )
ODD3IBT  [Fo3T,  12.5% T&),  ORIIJY,
B R. J03T eI OB 23ef

a) Rs.1, 000 b) Rs.1, 200
c) Rs.1, 300 d) Rs.1, 100
Solution :

Sold in Circular path

1) A sells an article to B at a-gain-of 10%. B sells:itto-C

1 .
atagainof 7 E %. C disposes of it at a loss of 25%. If the

prime cost to manufacturer A was Rs.3200 then the
price obtained by C is

A SIS, BT 10% o3t evetd rerd3d. B
OB, €1t 7 1/2 % 360 oW, J WBIY 25%
SEBY Aeeed SDIE. Saress A 1t edeyed
Sed D Te.3200 8NGT, € od B3 233

a) Rs.2800 b) Rs.2838
c) Rs.2670 d) Rs.2580
Solution :

2) A manufacturer sells an article to a wholesale dealer
at a profit of 10%. The wholesale dealer sells it to a
shopkeeper at 20% profit. The shopkeeper sells it to a
customer for Rs.56,100 at a loss of 15%. Then the cost
price of the article to the manufacturer is

Saedddh 10% ©wdd) Iy ABTBOr 20
SRR, F0ee I, Iy ABTZD TR,
20% ©0IEY ©onBobBON Trevets Ferd@T.
orBALID Fe.150), SFTE ma@30rt de.56,1008,

Copyright © All Rights Reserved | https://www.spardha.guru

o083 B398, 3083 S0dreTs0r ey S
(A1}

a) Rs.25, 000 b) Rs.55, 000
c) Rs.50, 000 d) Rs.10, 000
Solution :

3) A,sold a tape-recorder to B for Rs.4,860 at a loss of
19%. Again B sold it to C at a price that would give A a
profit of 17%. The gain% of B is

A, tec’-C5eBr0° =Y B 11 Te.4,860 3, 19% SFTO
Srevee3 Se83. DE B B3R, C 1l o0 Srad),
) ATt 17% 933, Aed33. B o oeIdy

2 2
a)22—% b) 66 — %

9 3

4 1
c)44—% d)33-%

9 3
Solution :

4) A sells an article to B making a profit of 1/5 of his
outlay. B sells it to C, gaining 20%. If C sells it for Rs.600
and incurs a loss of 1/6 of his outlay, the cost price of
article for A'is

A 2,00 SeaREY, BN B0eE SRRDITOT I
SYB 1/5 OR), o3t B @R € 1 Sd3T,
20% NORIT. C OB, Tp.600 3, BOTS B BT
SYB 1/6 IZTRY, ORIADBT, A Mo Seaa 3¢S

a) Rs.600 b) Rs.800
c) Rs.720 d) Rs.500
Solution :

5) A saleable article passes successively in the hands of
three traders. Each trader sold it further at a gain of
25% of the cost price. If the last trader sold it for Rs.250
then what was the cost price for the first trader ?

003 DIBVBDIB  IeAD) DU mémérw

3,008 BVZRTN FoRDBRHTT. B3 a0
Hage |
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OB FYE PSab 25% Omy, O[O Feoew
SRBTD. FoRW T BTRY 250 G @eoeEs
BRATS FeT0 DO B om)?

6) A, sells an article to B at a gain of 10%, B sellsit to C
at a gain of 5%. If C pays Rs.462 for it, what did it cost
toA?

A, 20 desmdabd B 1 10% ©oedde myevees
DT, B B, C1t 5% 733O Srevets Sro@3as.
R B3, TR.462 BS3ITT, o it R Seedb@?

1) A merchant has 1000 kg sugar, part of which sells at
8% profit and the rest at 18% profit. He gain 14% on the
whole. The quantity sold at 8% profit is :

) amzsmb 1000 32 ﬁsédobﬁg( BRI, T3
20T NS, 8% Lerd D) LLPTY 18% TeITO
o003 eI, T eI TN 14% NPT,
8% €70eIBQ) SroU0E3TT TBTeke:

2) A book vendor sold a book at a loss of 20%. Had he
sold it for Rs.108 more, he would have earned a profit
of 30%. Find the cost price of the book ?

DYB FR0WLIT 20% SFY, VYD), 0L
SroBER. 108 Ge.1{ o0 S79BFT Fe.300R), €723
2DHIR). DIBT SSWRY, BoBDBAO?

a) Rs.128 b) Rs.200 a) Rs.216 b) Rs.432
c) Rs.192 d) Rs.150 c) Rs.648 d) Rs.240
Solution : Solution :

3) The profit earned by a shopkeeper by selling a
bucket at a gain of 8% is Rs.28 more than when he sells
it at a loss of 8%. The cost price (in Rupees) of the
bucket is

2007 VBEF @aig( ze.8 dao’d made D003 VIR
BB ONADT NP I923R) LI @cﬂdg( 8%

a) Rs.500 b) Rs.400
c) Rs.600 d) Rs.450 Sa3, Se0ee3 eBweri Te.28 Bed). wBFR o3
Solution : (d/amo‘,’l)ﬁ?@m) A
a) 170 b) 165
Sold at Loss ) 190 d) 175
Solution :

4) Abook seller sells a book at a profit of 10%. If he had
bought it at 4% less and sold it for Rs.6 more, he would

3
have gained 18 Z %. The cost price of the book is

| D8 F0ILMTRD 10% CRIBO FTEIRY, Ae0eEs

DTN, 4% 3B B 6 de.rt Ted), Fevees
833 18 3/4 % NPDSZD. RIS oIS

a) 560 kg. b) 400 kg. a) Rs.130 b) Rs.160
c) 600 kg. d) 640 kg. c) Rs.140 d) Rs.150
Solution : Solution :
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5) When an article is sold at a gain of 20%, it yields
Rs.60 more than when it is sold at a loss of 20%. The

cost price of the article is

2,03 eieaaddmd 20% 92330 Sye0et3 Srelwer,
20% I3, Rs.60 ®ed)
QRSO AeDST. SeaB ST L3S

AVRIORIAARIAR] o IOl

3) A car and a jeep were sold for Rs.121000 each. The
car was sold at a loss of 20% while the jeep at a gain of
20%. The entire transaction resulted in

20D Fod DA ReR) B
003N G. ZoD 20% daigé D0T3DRT e
20% majd@m RO0IEIDIOND). VORI DDA

121000 dwe.it

a) Rs.200 b) Rs.120
c) Rs.150 d) Rs.140 B0V
Solution :

wo Articles sold in different rates

1) A trader bought two horses for Rs.19, 500. He sold
one at a loss of 20% and the other at a profit of 15%. If
the selling price of each horse is the same, then their
cost price are respectively.

W) D@0 OTWD DWTNRYRY . 19, 500 TR
20eBITRD. OTD  woBRY - 20% IFB, 1R
V3R,0BRY 15% LeIBY 0T P38 WD
Sre0ee3a &3S 2,083 BAGT, oYy et 3haaN.

a) Rs.10, 500 and Rs.9, 000
b) Rs.12, 000 and Rs.7, 500

a) Gain of Rs.500

b) Loss of Rs.10000

c) Gain of Rs.1000

d) Neither loss nor gain
Solution :

4) Kewal sells two tape recorders at the same price. On
one, he gainsi10% and on the other he loses 10%. The
total gain or loss in the transaction is

B3 VR €36 TZoBEO® m}aig( 200¢  3eir
DTN, 20B3Y, T 10% NYDTIE DR
faaif;g( 0300 B 10% SFDBERARBIN. SLotIROS

WED, 7923 9B do—g

¢) Rs.11, 500 and Rs.8, 000 a) 2% loss b) No loss or gain
d) Rs.10, 000 and Rs.9, 500 €) 1% loss d) 1% gain
Solution :

Solution :

2) A cloth merchant sold half of his cloth at 40% profit,
half of remaining at 40% loss and the rest was sold at
the cost price. In the total transaction his gain or loss
will be

W) WS, @@l B wedodh BB 40% E,
Se0BRD, LT VTSR, 40% IFB, DB NVTI)
333 S S8R W), B3 BT e
BT IF, DS

a) 15% loss
c) 25% loss
Solution :

b) 10% gain
d) 20% gain

5) Two bicycles were sold for Rs.3990 each, gaining 5%
on one and losing 5% on other. The gain or loss per cent
on the whole transaction is :

OB IFBONYR, Bewe  Te.39908,  Seves
SedweNd), woB3 Hed Fes5oR), wed DR
@d@xoddeg e.50®), SN, alde Semeds

TeBTIDD) €923 LIBDD ]

b) 2.5% loss
d) neither gain nor loss

a) 0.25% loss
c) 2.5% gain
Solution :
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Selling an Article & interchanging its value

1) To gain 10% on selling sample milk at the cost price
of pure milk, the quantity of water to be mixed with 50
kg of pure milk is

25)(3@ O3 IR 3330 mo@( S000E3

DDJIBO0B  10% o @Babew, 50 3B DY
BoOZp00N WBTSeBod NedR BIyeed

W) B3 Y Q&SI 590 10% G 3, oS
ﬁd o3 OB Te.54,000 3, ovee3 Bl 20%
RT3, 5903 Swew 233

3) Sourav purchased 30 kg of rice at the rate of Rs.10
per kg and 35 kg at the rate of Rs.11 per kg. He mixed

PO 281t 10 Ge. BOBY 30 33 © ) S8 11
. BOBO 35 83 aBDIBD. OCERR, IITD.
SHRBRO 30% o Nt 3D I3 330
(B.RYO) 03983 S DB HTRY, B0 FrareIeay?

when the article is sold for Rs.78, the gain or loss per
centis:

a) 2.5Kg. b) 7.5 Kg. In order to gain 5%, its selling price should be :
€10 Kg, d)5Ke: 72 dont 3R o IPDITO0T Fe. 100,
Solution :

2) Aman sells a car to his friend at 10% loss. If the friend a) Rs.87 b) Rs.80
sells it for Rs.54, 000 and gains 20%, the original cost c) Rs.84 d) Rs.85
price of the car was Solution :

a) Rs.25, 000 b) Rs.45, 000 Th . ke) of abples i
¢) Rs.50, 000 d) Rs.35, 000 SHENAESRELkEhOLARNIESS
Solutiofll eI ?,5’&303362 '<>"E.156""c,°\)d BR3P IDIYTO0B

the two. At what price per kg (in Rs.) should he sell the a) Rs.20 b) Rs.36
mixture to make a 30% profit in the transaction ? c) Rs.15 d) Rs.18
Solution :

a)12.5 b) 13.7
1495 413 de.n Bed). BB B3 VAR S @B
Solution : a) Rs.6.25 b) Rs.6.50
c) Rs.4 d) Rs.5
4) By selling an article for Rs.69, there is a loss of 8%, Solution :

Copyright © All Rights Reserved | https://www.spardha.guru

2003 demm& TR.69 8, S1o0E3 oS w3,
8% &), IBTHBT, SeIIY, Te.78 3, Bre00E3
Se8wen, weed uFme IFD) Be.

b) 4% loss
d) 4% gain

a) Neither loss nor gain
c) 40% gain
Solution :

5) By selling an article for Rs.72, there is a loss of 10%.

S&,NG. 5% NPT, T3 Sre0ee3s 3¢ deNdeies:

Reduced / Increased Price of an Article

1) A reduction of 15% in the price of apples would
enable a purchaser to get 2 kg more apples for Rs.240.

2BeDTICD T.2408, 2 83 Bed) Feewniv) saden
G FIDTT. FeS Bos S (B3 38) NS

2) A reduction of 20% in the price of salt enabled a
purchaser to obtain 4 kg. more for Rs.100. The reduced
price of salt per kg is :

DI z;i‘o’ojaeg 20% 383) w0eDTTOR 4 3.23. 100
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Mathematics

3) A tradesman sold an article at a loss of 20%. If the
selling price had been increased by Rs.100, there would
have been a gain of 5%. The cost price of the article was

W) D@D 20% IFF, word DABY, OBD.
ovee3  BOS, Te.100 BPAFS  Fe.50w),
I dR). e 3 &HeNS:

a) Rs.400 b) Rs.250
c) Rs.200 d) Rs.25
Solution :

4) A reduction of 20% in the price of rice enables a
buyer to buy 5 kg more for rupees 1200. The reduced
price per kg of rice will be:

w3 ad BSohY 20% OR), B3I 00eBweTOrT 5
38033&530( 1200 QpzIRLA &i)u 0eDTD DI
SB3RRDZ3. B8 3 3,0d BBD S 2ENDHIT:

a) 48 b) 60
c) 36 d) 45
Solution :

5) The reduction of 12 in the selling price of an article

i
will change 5% gain into 2 3 % loss. The cost price of

the article is

20 SAIIT Srevesd JSoh 12 3 3BSY 5%
UaIBRY, 2 1/2 % 353, B0 BT, Seasd Se33
(ALS)

a) Rs.80 b) Rs.100
¢) Rs.140 d) Rs.160
Solution :

6) A trader bought 10 kg of apples for Rs.405 out of
which 1 kg of apples were found to be rotten. If he
wishes to make a profit of 10%, at what rate should he
sell the remaining apples per kg?
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mzsm@oifaa%w 405 de.ri 10 38 Jeew 20edIW),
330 138 T ZRYSDID 0B 00T, BT
10% ¥R, NPT WAITT, 3D J3 3B
QUPT TN obred BT, Srevees Syedefead?

a) Rs.50 b) Rs.51
c) Rs.45 d) Rs.49.50
Solution :

Ratio and Partnership

1) At the beginning of a partnership business, the

3
capital of B was 5 times that of A. After 8 months B
1
withdrew — of his capital and after 10 months A

1
withdrew Z th of his capital. At the end of the year, if

the ‘profit incurred is Rs.53, 000, find the amount
received by A.

RN APeL] dédmdd ©830330, B ob 0BT A
Nod 3/2 Bea), Bed). 8 Sori¥ [oST B BT, W0BZYS
1/2 03 &oBrichdeola) ) 10 on¥ So88 ASS
OBDIVE 1/4 Fe s, HoBrichdeod=z). SRc3
BJ0De), NPAT wdxy Te.53,000 8NFT, & I33
3p3TR) B0BDHBO.

a) Rs.32, 000 b) Rs.30, 800
c) Rs.30, 000 d) Rs.23, 000
Solution :

2) 7 kg of tea costing Rs.280 per kg is mixed with 9 kg
of tea costing Rs.240 per kg. The average price per kg
of the mixed tea is

3.8.11 T.280 3Jad 7 3.8 WdeIY, 3.8.11 Te.240

B 98.23. B3 38 3 Wwed TR0 LS

a) Rs.257.50 b) Rs.255.80

c) Rs.267.20 d) Rs.267.50 Hage |
Q
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Mathematics

Solution : QO D DB D [BBOBY DoNwOBZMY,
5 9 =

3) Rs.864 is divided among A, B and C such that 8 times SRt @d& BeE i

A’s share is equal to 12 times B’s share and also equal QUPT oIS IR IBOIBD. At @ No3

to 6 times C’s share. How much did B get ? 0.400 885 BE3, D, et
Je.864 = A, B D) C ¥ DI JonB3weNd e y
= a) Rs.1200 b) Rs.1600

9033 8 5&% A 0b Toew 12 2090 B ob =edrR C) Rs.1000 d) Rs.800
SRRTNDBE W) 6 @y, C b Hedrd
SRIRTNDIT. D BTG S OR)?

a) Rs.192 b) Rs.399
c) Rs.288 d) Rs.72

4) In what ratio must a grocer mix tea at Rs.60 a kg, and
Rs.65 a kg, so that by selling the mixture at Rs.68.20 a
kg, he may gain 10%?

0dom ORDWBBY 30ved D HeOWD WO BR

Ge.60 DB .65 3, WHeIR, oI, Bermon
DB)EIBY, Te.68.20 B, BToTE3 SIS TV T

10% RPTVVBTD?
a)3:4 b)3:2
c)3:5 d)4:5

5) A shopkeeper earns a profit of 12% on selling a book
at 10% discount on the printed price. The ratio of the
cost price and the printed price of the book is

S0ES L5SH) 10% DoPMSWS FTEIRY, S0
SPRDBTOT BORBIHSB 12% RIBRY, NS,
DIBE LS DR FwD T B 3

a) 25:37 b) 99 : 125
c)50: 61 d) 45 : 56

6) A, B and C entered into partnership in a business. A

3
got E of the profit and B and C distributed the

remaining profit equally. If C got Rs.400 less than A, the

total profit was Hage |
1N
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